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QUESTION 1

Which option is an advantage of using Cisco Prime Infrastructure as a network management solution?
A. single GUI interface to all Cisco network devices

B. Prime Infrastructure can also perform data center and virtualization infrastructure management.

C. Hybrid and cloud-based options allow for easy scaling to accommodate growth.

D. can be licensed for wired-only or wireless-only versions

Correct Answer: A

QUESTION 2

How can you customize the Home view of Prime Infrastructure?

A. Open the Administration menu, select the Dashlets option, select new Dashlet, click Add to Home View.

B. Open the Operate menu, select the Home View option, Choose Edit Home View, select new Dashlet from the list.
C. Add Dashlets and edit existing Dashlets.

D. Home view cannot be customized in Prime Infrastructure 2.0.

Correct Answer: C

QUESTION 3

When a user gets redirected to the device registration portal, which important information field is prepopulated by ISE?
A. user\\'s username

B. user\\'s first and last name

C. device ID with IP address

D. device ID with MAC address

Correct Answer: D

QUESTION 4
What is the best way to design a network to ensure that Cisco NSF operates according to specifications?
A. Ensure that all attached neighbors are Cisco NSF-aware.

B. Ensure that the local switch is the NSF master.

500-451 VCE Dumps | 500-451 Study Guide | 500-451 Exam Questions 2/4


https://www.certbus.com/500-451.html
https://www.certbus.com/500-451.html
https://www.certbus.com/500-451.html

www.CertBus.com https://www.certbus.com/500-451.html
CE RT 2024 Latest certbus 500-451 PDF and VCE dumps Download

C. Ensure that VSS NSF is enabled.
D. Ensure that I0S ISSU is enabled.

Correct Answer: A

QUESTION 5

Which set of Converged Access components is related to "physical” entities?
A. mobility agent, mobility controller, mobility oracle

B. mobility controller, mobility groups, switch peer group

C. mobility groups, switch peer group

D. mobility oracle, switch peer group, mobility domain

Correct Answer: A

QUESTION 6

When building the Security Group Egress Policy Matrix, what is the default policy regarding empty intersecting cells?
A. enabled, SGACLs : permit IP

B. enabled, SGACLs : deny IP

C. disabled, SGACLs : permit IP

D. disabled, SGACLs : deny IP

Correct Answer: A

QUESTION 7

Within Cisco ISE, which persona or node is responsible for enforcing policy?
A. Policy Administration Node

B. Guest Service persona

C. Inline Posture Node

D. Policy Service persona

Correct Answer: C

QUESTION 8
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Within Cisco ISE, which persona or node handles RADIUS requests and the Sponsor and Guest portals?
A. Policy Administration Node

B. Guest Service persona

C. Policy Service persona

D. Monitoring persona

Correct Answer: C

QUESTION 9

Which option can be a source of Pl Assurance data?
A. MPA on Catalyst 6500 Series Switches

B. Catalyst 3850 Series Switch interface status

C. NetFlow on Catalyst 4500 Series Switch

D. ISE client join statistics

E. WLC SNMP traps

Correct Answer: C

QUESTION 10

Which option describes the benefits of a secure BYOD architecture using SGT?

A. complex network design and lower operational costs

B. eliminates ACL explosion and offloads filtering to ASA for rich and scalable policy rule automation
C. complex network design and topology dependent segmentation using Security Group

D. Segmentation using Security Group is topology dependent and offloads filtering to ASA for rich and scalable policy
rule automation.

Correct Answer: B
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